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g | 2we BALES Sl B Rl
(t) (t) (t)
H25.42| BRI XS SRERAE 7 > X — 6,604 t 0t| 6,604t -
H25.4.2|/3 vy 7 7 — 4> 0t 198t| 6,406t -
H25.5.14| £ E B 0t 56t| 6,350t -
¥k | H25.10.28| (#k) FRIREEZE 0t 10t] 6,340 t| EEURIT
256EF | H25.10.28| () S THEMa YL L b 0t 3t| 6,337t -
H26.2.13|h-% v7=-av4r4vy (k) (7 WIT/bryvady (BR) ) 0t 50t| 6,287t -
FER25FE 5T MF XNy 77 —9%KR< 6,604 t 119 t[%% 6,287 t
H26.6.9] (k) 7 —> « v A~ 0t 10t| 6,277 t|wueames
K H27.2.20|=%UF J U—2 (k) (HirE— () A3 IHER) 0t 10t| 6,267t -
26FEE
FR26EE 51 2% 0t 20 t|%% 6,267 t
H27.43| (B) JIREM I HILE Vb 0t 4t 6,263 t{weamgT
H27. 414K F 1% AT 0t 1t| 6,262 t| LEEaRET
H27.4.16|(5) #&%A 0t 11t 6,251t -
H2799|=2UF J U — X 0t 10t| 6,241t -
L H27.11.2( 7" — > 75 2 0t 4t| 6,237t -
2TEE | H27.11.17| (B) ST A 0t 5t 6,232 t|uramRis
H28.1.25| hLE— (B) (1177-LHOSOYA. S T&EJE) 0t 6t 6,226t -
H28.3.30| AL E— () 0t 29t 6,197t -
ER2TERE 51 85 0t 70 t|7% 6,197 t
H28.4.28|kF~ V& (¥k) 0t 30t| 6,167 t| LuraRBRT
H28.6.2| AR (H) 0t 55t 6,112 t|wLeamRT
H28.6.6| H/LE— (%) (1377-LHOSOYA. SATH5E) 0t 2t 6,110t -
H28.6.27| (#k) 774 X 0t 100t| 6,010t -
R, H28.7.13[ 7' —> 75 R (k) (LvRILD=Zv4i ) 0t 2t 6,008t -
28 E | H28.12.14|m—Y v BHE4 LZ/E 0t 6t 6,002 t|LEARES
H29.3.31|H28EDERA 7t v +Eg&E (HLx3) 0t 28t| 5,974t -
H29.3.31|H28 & MERCO24 7 & v b 0t 142t 5,832t -
FERk28EE 5T 7 XEDERCO2F 7ty Fo%K#< 0t 223 t|57% 5,832 t
H29.6.23| (%) 774 X 0t 100t| 5,732t 2
H29.6.29[=2 U F J U — X (&) 0t 10t| 5,722t -
H30.1.26((%k) B /&R 0t 5t 5,717 t|wrargs
H30.1.26|(B) BEZESR > & — 0t 5t 5,712 t|wreamss
e H30.1.26| () XiR#E 0t 10t| 5,702 t|weamgs
20t H30.1.27| (%) X #5#E 0t 50t| 5,652 t|wkamERT
= | H30.1.27|(#%) &3EA 0t 50t] 5,602 t|wramms
H30.2.15| A/ (%) (SB/x7— (#) ) 0t 1t| 5,601 t|»rsanstan
H30.3.31|H29& DERCO24 7t v b 0t 137t| 5,464t -
TERH29EE 5 81 XGEDERCO2FA 7t v F %< 0t 231 t|3% 5,464 t
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£E | zZwa BALES e R e R YN
(t) (t) (t)
H30.4.16] (B) SIFFMa > &> b 0t 5t| 5,459 t|weamET
H30.4.18| (#k) KFILAk 0t 100 t| 5,359 t|wrarET
H30.5.1| (%) 7—FET 0t 50t| 5,309 t|LEARBRT
H30.5.16| A/ (%) (SB/X7— (#) ) 0t 1t| 5,308 t|nrxansen
H30.5.24|H29EDERA 7t v +Eg&E (HLx3) 0t 27t 5,281t -
H30.5.31| (&%) /<t 0t 2t 5,279 t|LeamEES
H30.5.31| (F8) RAEEX 0t 5t| 5,274 t|urargs
H30.6.28| (#k) 71 X 0t 100t| 5,174t -
H30.7.7| (%)) 77 X T L&Et 0t 50t| 5,124 t|wLkamERT
T H30.7.30| (B) ME&7KE 0t bt 5,119 t| LEARRT
e H30.9.3| A /L% 3 (M&)o (EEI\\ZIS%ﬁﬁiT}E‘) 0t 10t 5,109t -
H30.9.5| (%) WEX 7Y > 7 8efR 0t 125 t| 4,984 t|wrargs
H30.9.5| (#k) WHEX U > 7 KILTH 0t 10t| 4,974 t|LamET
H30.10.18| (k) B/ 2> P& k 0t 50t| 4,924 t|wLramERT
H30.10.18| X A /Y~ U —F (B) ARBEFHE 0t 50t| 4,874 t| LaRET
H30.12.21[=V Ev 27 (&) 0t 20t| 4,854t -
H31.1.9] (B) SWI L 0t 5t| 4,849 t|urargs
H31.2.15| A2 (#k) (SB/X7— (¥) ) 0t 10t| 4,839 t[rrranszan
H31.3.31|H30&DERCO24 7t v bk 0t 179t| 4,660t g
ERR30EE 51 181F XEDBRCO2FH 7t v F o %< 0t 625 t|5% 4,660 t
H31.4.16[KFH X EZ () 0t 5t| 4,655 t|urargT
R15.13[Hixa (Bk) (7—brZU—> (#R) ) 0t 4t 4,651 t{rrxansai
R1.6.7 (%) 74 X 0t 100t| 4,551t -
R1.6.12|Axa (k) (7—b+Z7U—> (BK) ) 0t 2t| 4,549 t|prxanman
R1.75| (#%) ®ET L EHBE 0t 123 t| 4,426 t|weamgT
R1.8.2I/MNMT#MRE () 0t bt 4,421 t| LEeARERT
R1.8.2| (B) KEEH 0t 15t| 4,406 t|urargs
R1.8.2| (B) W\EERE TIERT 0t 10t| 4,396 t|wrearss
R193|Ah/Lxa (k) (F—+rZ7U—> (%) ) 0t 1t| 4,395 t|rrsanstai
R1.9.11| (#k) WHEX 7' v 7 8IErR 0t 20t| 4,375 t|weamET
R1.9.11| (%) REX 7Y v/ KILTH 0t 10 t| 4,365 t|uearET
A7 R1.9.17|@—Y v HEELE 0t 6t 4,359 t|LEEARES
e R1.9.25|H30EDERA 7+ v FEgf (H/L3x3) 0t 28t 4331t -
PR R1.1L.11|{Ax3 (k) (SB/X7— (&%) ) 0t Tt 4,324 t|prransan
R1.11.29| (B) ST YIL &> b+ 0t 5t| 4,319 t|weamET
R1.12.3| (%) YT X aBEEXHt 0t 10t 4,309t -
R1.129|A/x2a (k) (F—hrZ7U—> () ) 0t 2t| 4,307 t|rraansan
R2.1.14|Ax2a (k) (F—rZ7U—> () ) 0t 1t| 4,306 t|prranstau
R2.2.14| (Bk) T Ixv b 0t 50t| 4,256 t|LaRET
R22.17| (#%k) ./ avHIi &> bk 0t 50t| 4,206 t|wLEamET
R2.2.26| HERE (%) 0t 25t 4,181t -
R2.3.27| (B) Ahv&HT 0t 50t 4,131 t|wLEarRa
R2331|R1IE®DERCO2H+ 7t v k 0t 200t| 3,931t -
SHMTEE 51 2218 XEDERCO2A 7t v F %K< 0t 529 t|7% 3,931t
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(t) (t) (t)
R2.4.16| (k) BT L EHX 0t 23t| 3,908 t|wramERT
R2.6.5 (%K) 74 X 0t 100 t| 3,808 t|wreamET
R2.6.19|KFH REX (1) 0t A4t| 3,804 t|LrarET
R2.7.14|R1VEDERF 7w bER (KL x1) 0t 24t| 3,780t -
R2.824| Az (%) (SB/<7— (#) ) 0t 9t| 3,771 t|rraonstan
R2.8.24| (B) KAEEH 0t 15t 3,756t -
R2.8.24| () ABARE T{ERT 0t 5t 3,751t -
R298|AH/xa (%) EHDTIL—TFKE () ) 0t 10t| 3,741 t|»rxanstan
R2.9.18| (#%k) WHR 7V > 7 8UERT 0t 10t| 3,731 t|wreargs
R2.9.18| (%) WHX 7 > 7 KILIH 0t 10t| 3,721 t|wramET
R2.9.28| () EHEK 0t 5t|] 3,716t -
R2.9.28| (%) ¥ > - X v FF VR 0t 3t 3,713 t| BEURIT
A7 R2.11.11| (#%) Tor i labo 0t 100t| 3,613 t| BENERTT
. R3.1.26] (#k) e/ arHIiLx >k 0t 50t| 3,563 t|LERARRT
> R3.2.1| (B) BHEHHE 0t 5t 3,558 t|LEARERT
R3.2.12|BERE (k) 0t 40t| 3,518t -
R3.2.18| U N—X (F) 0t 100 t| 3,418 t|wEeamET
R3.2.26| (#k) BAZE 0t 8t| 3,410 t| LEe&RIRT
R3.3.1| (B) SIFHMa>HIILZ> b 0t 5t| 3,405 t|ueamET
R33.15|Za/N—FrF—E& 2 &) 0t 100t| 3,305 t|wraRET
R3.3.16|~/La &8 () 0t 10t| 3,295 t| BENIRTT
R3.3.19| (B) =& 0t 6t 3,280 t|urargs
R3.3.22|KEWp5 (#K) 0t 5t 3,284 t| BENRIT
R3.3.25| (%) =fEBHE 0t 11t| 3,273 t|ueenns. snas
R3.3.31|R 2 BDERCO24 7t v b 0t 185t| 3,088t -
ST2FEE 51 24 XEDERCO2F 7ty FH %< 0t 658 t|7% 3,088 t
R3.4.19] (%) D -1 - P 0t 8t| 3,080t -
R3.4.20| 413 (B) 0t 3t| 3,077 t| BERIT
R3.4.21| (k) 7t X 0t 6t] 3,071t|wramErs
R3.4.23| (B) BREEIE 0t 10t| 3,061 t|wreamEs
R3.4.28| (B) HAEMSE 0t 5t 3,056 t| BEURIT
R3.5.17[A %0 (Kk) (SB/X7— () ) 0t 8t| 3,048 t|rrransian
R3.5.24| (¥k) BT L EHEX 0t 10t| 3,038 t|wramnrs
R3.5.25| (#k) &z 0t 5t 3,033t| BENERTT
R3.5.25| () AR 0t 5t| 3,028 t| EERIT
R3.5.25| L ¥ (%) 0t 63t| 2,965 t|LamERT
R3.5.27| (%) 74 X 0t 100 t| 2,865 t|ueamEiT
R3.6.3[H/xa (Fk) 0t 10t 2,855 t|rrxanzan
R3.6.15| (¥k) Kib&Y) 0t 150t| 2,705 t|wLamET
LYl R3.6.15| () EHEEME 0t 10t| 2,695 t|wEamRT
3EE R3.6.23| (B) EEXEE 0t 5t 2,690 t|uramET
R3.6.24|KFH XEZE (1) 0t 5t 2,685 t|urargs
R3.6.28| (B) K&#EH 0t 20t| 2,665 t| BEUERTT
R3.6.28| () EBERE TIERT 0t 5t 2,660 t| BERIT
R3.6.28| () v v - AvF+ v X 0t 3t| 2,657 t| BENRTT
R3.6.29| (#k) A~Rvw & 0t 50t 2,607 t|LERARRT
R3.7.6| (k) LFEIHIL&Z YV k 0t 20t| 2,587 t{wramERS
R3.7.6] (#k) F&: 0t 5t 2,582 t|urargs
R3.7.7| (B) #7+tX 0t 50t| 2,532 t|weamRT
R3.7.7| (B) ZM&EERT 0t 5t] 2,527 tlurergs
R3.7.15| (k) 74 b R&Z v 7 0t 10t| 2,517 t|LramET
R3.7.15| (#k) H > XL 0t 50t| 2,467 t|wLeamsET
R3.7.15| (&) WeHHR—Y 7 0t 100 t| 2,367 t|urargs
R3.7.15| (k) FHJL 0t 5t 2,362 t|ueamET

3/9 R—=Y



g | Zwe BALES e R e R YN
(t) (t) (t)
R3.7.15| () Il & 0t 5t| 2,357 t| BEURIT
R3.7.21| (B) HEt> k 7 ILEX 0t 23t| 2,334 t| BERIT
R3.7.16| (k) EF X 0t 15t 2,319 t| LramET
R3.7.21|EENEE (k) KFXJE 0t 11t 2,308t -
R3.7.26|X 7> L X T#E (%) 0t 10t| 2,298 t|wamgRT
R3.8.4| (]k) 74 —FXTFT1HhL 0t 12t| 2,286 t| BEURIT
R3.84| (#k) 3> 4 A 1Lk 0t 60t| 2,226 t| LamRET
R3.8.23| (B) FKXEM 0t 20t| 2,206 t|wLamERT
R3.8.23| (#k) KALkik 0t 20t| 2,186 t|wkeamBT
R3.8.23[FHITZ () 0t 20t| 2,166 t|wEaRBRT
R3.8.24| BAREMI OV HIL &y b () 0t 7t 2,159 t| BEERIT
R3.830|R2EDERF 7y bER (A1) 0t 18t 2,141 t|»rxansan
R3.830|R2r~ DT H 7w bESE (HLxD) 0t 2t 2,139 t|prxanstan
R3.8.31| (B) =# 0t 10t] 2,129 t|wrearps
R3.9.3| (B) KMNBEHEmE 0t 20t| 2,109 t| BEERTT
R3.9.3| (¥k) MHM/E 0t 25t| 2,084 t|wLamET
R3.9.8| (B) EMME 0t 8t| 2,076 t|LreERET
R3.9.8] (B) < BhEEH 0t 2t| 2,074 t|weargs
R3.9.8| (¥k) A4 v rvxT A 0t 17t| 2,057 t|wuramEs
R3.9.8| (B) ZT=EFiE 0t 8t| 2,049 t|LreaRRT
R3.9.10| (B) =BEIFE 0t 5t| 2,044 t| BEEERIT
R3.9.10| (#k) w7 =F 0t 10t| 2,034 t|weamrET
R39.13|7> 724 L., () 0t 20t| 2,014 t| LramET
R3.9.13| (#%) Ta~ 0t 10t 2,004 t|LEeERRT
R3.9.13| %> 27 U —> () 0t bt 1,999 t|LrARIET
R3.9.14| (%) BEBER 0t 5t 1,994 t|LEEaRET
A7 R3.9.14| (B) HEZHRt X — 0t 5t 1,989 t|wuamiEriT
i NN o~ — o
3t R3.9.24| (#) %kg\%&\mﬁii 0t 50 t 1,939t u—l[g%l:llaﬁﬁij—
R3.9.24| (k) BRZETEHFT 0t 20t| 1,919 t| BEURIT
R3.9.30| (&%) 72 0t 5t 1,914 t|wLeamBT
R3.10.1|/MIMZE (FF) 0t 11t| 1,903 t| BEURIT
R3.10.1|LEESE (BR) 0t 10t| 1,893 t|weamiEiT
R3.10.8| TOMONARI (#k) 0t 3t 1,890 t| BENRIT
R3.10.8| X (#R) 0t 20t| 1,870 t|wreamET
R3.10.8| K= (#k) 0t 20t| 1,850 t|wreamsRT
R3.10.8| Xm@E (Hk) 0t 20t| 1,830 t| LeamERT
R3.10.8| (B) FHFK—L 0t 18t| 1812t|F—4%
R3.10.11| (¥k) > 74~ 0t 5t 1,807 t|wueamiET
R3.10.13| A2 (k) (F—hrZ7U—> () ) 0t 2t 1,805 t|prxanstau
R3.10.20| (&) SHMI¥IE 0t 5t 1,800 t|uramErs
R3.11.5| (Bk) WHRX U > 7 8IEfR 0t 10t| 1,790 t|weamnrs
R3.11.5| (#%) WHX 7Y v/ KkLTH 0t 10t] 1,780 t|wrargs
R3.11.5| (#%k) AHI—KRL —> 3> 0t 25t| 1,755 t|wLeamRT
R3.11.10| () BABEM=SE 0t 50t| 1,705 t|wrarEs
R3.11.18| (#k) g hn> @t & — 0t 5t 1,700 t|weargis
R3.11.19|Lkeg &% & ¥ (B) 0t 5t 1,695 t| BEURIT
R3.12.6| (#k) pcb 0t 12t| 1,683 t|LkamET
R3.12.7|A/x2 (k) (F—hrZ7U—> () ) 0t 1t 1,682 t|»rxanstan
R3.12.10] (&) = v o 0t 20t| 1,662 t|wLramRa
R3.12.14| (B) #E&{ERT 0t 10t| 1,652 t|wrargs
R3.12.14] (#%k) KuAh> b U — 0t 10t] 1,642 t|wurargs
R3.12.16|E%EX (B) 0t 5t 1,637 t|LEEAREBT
R3.12.20( (k) 7—/%X 0t 10t| 1,627 t|xr=memE
R4.1.13| (#k) 8838 1L A% 0t 15t 1,612 t|wurames
RA117|(R) e/ arvHi x>k 0t 50t| 1,562 t|wEARERT
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(t) (t) (t)
R4.1.24|(B) B 0t 5t 1,557 t| BEERIT
R4LIHABSER () 0t 20t| 1,537 t| BEURIT
R429(Axa (Bk) (SB/x7— (#) ) 0t 9t| 1,528 t[rrxanzan
R42.14|(B)770 /P —EZX 0t 10t| 1,518t| BEURIT
R4.2.15| () BH B 0t 5t 1,513 t|wrargs
RA2.17|> v IR YL &R > b () 0t 50t| 1,463 t|wLam®ET
R4.2.25| (%) B A3 0t 8t| 1,455 t{wremks
R4.3.1| B X8 £ (#K) 0t 40t 1,415t -
R4.3.7| (k) AL LT E AT 0t 30t| 1,385 t|LamrT
RA3INR) 7 7 —RA R TF54 X 0t 10t| 1,375 t|x7ememE
e R4.3.18|#)) 1 B =5 (Bk) 0t 10t| 1,365 t|LEARRT
S R4.3.22| (%) EAE 0t 10t] 1,355 t|wrargs
> R43.23|2 YU —T 252 / (#) 0t 10t| 1,345 t| BEUGERIT
R43.23|Hixa (k) (F—rZ7U—> (#k) ) 0t 1t| 1,344 t|rrzanstan
R4.3.28| (%K) @ 0t 50t| 1,294 t| BEUERIT
R43.28|(#k) 74— - TL + TX 0t 50t| 1,244 t|wLamRT
R4.3.28|FRT 7 / A () 0t 100 t| 1,144 t|LecRES
R4.3.29| (#k) /\ & E & 0t 10t| 1,134 t|weerss
R4329|(#R) ¥ = xR 0t 10t| 1,124 t|x7=meE
R4.3.30|(B) )V VR F AT 0t 10t| 1,114 tjurerss
R4.3.31|R3 BDERCO2A 7t v k 0t 17t 1,097t -
SHM3EE 5 10318 XEDERCO2F 7ty %< Ot| 1,974t|3% 1,097t
R4.4.1|#%kX=%L)oy Garden 0t 5t 1,092t E—44
R4AT|FR A b —7EFE ALLUMERXF 0t 5t 1,087 t|xF=RsE
R4.4.20|(B)&E&E1. 0t 5t 1,082 t|LEARRT
R4.5.24| (%) i 7T L EHE 0t 15t] 1,067 t|wrargs
R4.6.1|World Utility (k) 0t 2t| 1,065 t|umemss ann-o
R46.1(MR) 7Y LB —XA—F > 0t 2t 1,063 t|umemas cern-n
R4.6.2|(#R) F &3 0t 5t 1,058 t|wrarRT
R4.6.6|(#)D -1+ P 0t 8t 1,050t -
R4.6.6[(B)H 7t X 0t 50t| 1,000 t|wLeamRT
R4.6.14| K F 5 R EZ (1) 0t 5t 995 t|LikeaRRT
R4.6.13|(B) Z MEERT 0t 5t 990 t| LA RBIT
R4.6.14|(BR) 7 A4 X 0t 100 t 890 t|LEeamEsT
R4.6.21|(¥k) h >~ XX T 0t 50 t 840 t|LreamBRT
R4.6.21|=IWEV L — > (H) 0t 50 t 790 t|WreamERT
R4.6.24{ L7 = v R TE(H) 0t 10 t 780 t|wrargT
S0 RATIINPOEAZ DB R—F 0t 5t 775 t| L2 AmBT
4EEFE R4.7.7|(#k) RILAJE 0t 10t 765 t|x7zmeE
RATS|(BR)) = avTHA Yy - R—ILT4 VIR 0t 50 t 715 t| BEXERTT
R4T12{(R) T4 R & v 7 0t 5t 710 t|wreamEs
R4.7.14|(B) KA 0t 20 t 690 t| BEERTT
RA.7.14| (RR) iR & TERR 0t 5t 685 t| SERTT
RATI4|(BR) <> Y - XV TFF R 0t 3t 682 t| BEXIRIT
R4.7.14| AL 2 3 (%K) 0t 50 t 632t -
RA.7.15| 0D L Bl EE L F AT 0t 10t 622 t| BEUERTT
R4.7.15| HEET M T =5 F &b 0t 5t 617 t| SEXIRIT
R4.7.28| (#k) K31 0t 10 t 607 t| BEURIT
RA.7.28|(BR) I ED >~ YL & > b 0t 20 t 587 t|irARBRT
R4.8.2|(B)EIBEEE 0t 10t 577 t| Learps
R48I|(KR) I > 4 A Lk 0t 60 t 517 t|weamEs
R48IT|(B)r A - TR - T 4—TF54 X 0t 10 t 507 t|LargT
R4.8.23|(B) =58 0t 10t A97 t| \LEEARERT
R4.8.25| (k) A ALk i 0t 20 t ATT t|LaamRS
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(t) (t) (t)

R4.9.6| () IR EXE 0t 5t 472 t| BEVERTT
R4.9.16| B EmETFRMAE S 2,000 t 0t|] 2472t =
R4.9.21|(B) {EMEMIE 0t 5t 2,467 tlurarss
R4.9.22|(BR) EF & 0t bt| 2,462 t|wramEs
R49.27|R3EDERAF 7ty rER (A2 D) 0t 20t| 2,442 t|rrxamsan
R4927|R3b~ MIZH 7+ v FEgR (A% 1) 0t 2t 2,440 t|praonan
R4.9.28|(®E)f& M8 0t 10t| 2,430 t|weemss
R4.9.29|Sustineri (k) 0t 20t| 2,410t -
R4.10.6| (%K) | HEEER 0t 2t 2,408 t|umemss e

R4.10.14|(BR)NA X 7)) v 7 8RR 0t 10t| 2,398 t|wkeamRT
R4.10.14|(#%R) WA X 7"V v 7KL T8 0t 10t| 2,388 t|wrames
R4.112|Hix3 (k) (SB/<7— (&%) ) 0t 24 t| 2,364 t|prranssi
R4A.11.14{(#R) 7 — /XX 0t 10t| 2,354 t|xFi=meE
R4.11.15|(%k) =2 0t 5t 2,349 t| BEENERTT
R4.11.15|(#K) 1R 0t 5t| 2,344 t| BERIT

R4.11.15(F 2% (H) 0t 1t 2,343 t| BEGERIT

R4.1121| A Y —T X F 7 / (#R) 0t 5t 2,338 t|wramErs
R4.11.21|TOMONARI (k) 0t 5t 2,333 t|wearrs

R4.12.12| (Bk) 74 E4 T L 0t 20t| 2,313 t|wLEEAmET

R4.12.15|(B) LR EEm S 0t 5t 2,308 t|uramEs

R4.12.23[ A% 23 () (B 7 )L — T AR4E (1)) 0t 9t 2,299 t|rrramstan
R5.1.26|(B)FEBELRTLE 0t 5t] 2,294 t|wuremirs

R5.1.26| (#%k) KibAh> b U — 0t 10t| 2,284 t|weamEs

R5.1.27|H > 2 1) —> (¥) 0t 10t] 2,274 t|wureargs

R5.2.7| (%) 77 —A+TF4X 0t 10t| 2,264 t|ueamET

S R5.2.8| (k) IT A B < X #H 0t 10t| 2,254 t|weamRa
AEE R5.2.8| B Z I (¥kK) 0t 5t| 2,249 t|weargT

R5.2.8|(#k) B A= 0t 8t 2,241 t{wramks

R5.28|(BR) e/ avH Ik b 0t 50t| 2,191 t|wEARERT

RS2 EREFHELEAL 2 —< >~ 0t 5t 2,186 t|LEEARSRT
R5.2.15|HERIZE (#) 0t 40t| 2,146t -
R5.2.16|7 > 7274 L., () 0t 20t| 2,126 t|LEeARERIT
R5.2.16(#k)Elevation 0t 3t 2,123 t| LkeARET
R5.2.20[3EHAH (HR) 0t 100 t[ 2,023 t|Leam®ET
R5.2.27| (BF) ~VU — 0t 5t] 2,018 t|wramEs
R5.3.14|ZFIKE (B) 0t 5t] 2,013 t|wramEs
R5.3.14| Lf2fb T2 (#F) 0t 2t 2,011 t|wramErs
R5.3.14|(#) 7 4+ — - TL - T X 0t 30t| 1,981 t{wLEamERT
R5.3.17| () KBk == 0t 5t 1,976 t|urargs
R5.3.17|(B) 77 7 0t 2t 1,974 t|urerss
RE.3.17|(BR) O EH W IE 0t 2t 1,972 tlurergs
R5.3.17|(#k) < JL A 4 7K EE 0t 2t 1,970 t|wrargs
R5.3.17|1b¥EMEA BEmEIE 0t 2t 1,968 t|LEamBT
R5.3.17|(#k)EiDmEE 0t 2t 1,966 t|wuearss
R5.3.17|(#k) &t 0t 2t 1,964 t|weamET
R5.3.17((B)tr 0t 2t 1,962 t| LEARRT
R5.3.22|(#R) Y > o7 R 0t b0t 1,912t -
R5.3.22|(#k) 7 > Xk — L 0t 5t 1,907 t|wueamiET
R5.3.23| (¥R EASE 0t 10t] 1,897 t|wrargs
R5.3.31|R4 EDERCO2#+ 7t v k 0t 18t| 1,879t E

SHAEE 51 811 XE®DBRCO2#4 7ty o %K< 2,000t 1,200t|%% 1,879t
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g | 2Zwe WALES TR OWE OB ens
(t) (t) (t)
R5.4.8|(B)@HEHH 0t 5t] 1,874 t|wuremis
R5.4.25 (57548 0t 2t 1,872t -
R55.11|()F2o=AL - 21— 0t 30t] 1,842 t| BEURT
R5.5.23|(B) LB ITEH 0t 5t 1,837 t|LkeamBT
R5.5.24|Lkeixb 2B5% (Bk) 0t 10t| 1,827 t|wrearEs
R5.5.30 (%) |53 (#K) 0t 10t| 1,817 t|wrames
R5.6.2|(#k) h > & T 0t 50t| 1,767 t|weamiRT
R5.6.5|(¥k) 7 4 X 0t 100t| 1,667 t|LEeamET
R5.6.16((B)FHES 0t 10t| 1,657 tjwurarss
R5.6.19|(#) R T I~ — A v FKF 0t 20t| 1,637 t|LeamBRT
R5.6.22|(F) R iEH) 0t 15t| 1,622 t|uramEs
R5.6.28|(#R) 74 F R & v 7 0t 5t 1,617 t|weargs
R5.6.28|=I87 L — > (H) 0t 40t| 1,577 t|LARERT
R5.7.6|(#k) BB T L E X 0t 18t| 1,559 t|weamERT
R5.7.7| (%) B3I AJE 0t 10t| 1,549 t|xF7i=mem=
R5.7.10| AL % 3 (¥R) 0t 50t| 1,499t -
R5.7.19( () Z M & Efr 0t 5t 1,494 t|wuremirs
R5.7.20[{(#8) ¥ >~ & B 0t 10t| 1,484 t|wrearrs
R5.7.20((B)EA TR 0t 30t| 1,454 t|LARERT
R5.7.20( () KREZE*% 0t 25t| 1,429 t| BEURIT
R5.7.20|(B):EEER e T/ERT 0t 10t| 1,419 t| BEURTT
R5.7.20[{(#)~> > - X FF v R 0t 5t 1,414 t| BESRIT
R5.8.7|(MR)LiEa > P& > k 0t 20t] 1,394 t{wramERs
R5.8.17| &K B M & 0t 2t 1,392 t|weamBT
R5.8.17|(B)H 7t X 0t 50 t| 1,342 t|LaRBRT
a0 R5.8.24|(#k) EBF7KE 0t 66t 1,276t| BENIRTT
- R5.8.25((#) 3> 4 1 1Lk 0t 60t| 1,216 t|wLkeamET
= R5.9.2|ZRIEAD W T $hHER 0t 10t| 1,206 t|wreamEs
R5.9.8[KFHREZE () 0t 5t 1,201 t|weargs
R5.9.11|(#k) K#r 0t 10t| 1,191 t| BERTT
R5.9.15| (#k) A AUk 0t 20t 1,171 t|wreamRa
R5.9.25| () {@ME 0t 10t| 1,161 t|wrames
R5.9.26|kXatt h &t A 0t 13t| 1,148 t| LiEaRRT
R5.9.29| (%) IB 4 /b 0t 50t| 1,098 t|wrarET
R5.10.31|(#R) EF & 0t 5t 1,093 t|wamEs
R5.10.31|(#k)F&5 0t 10t| 1,083 t|wLramET
R5.11.8|(H) W EFik & 0t 20t| 1,063 t|wam®ET
R5.11.10|{(#)) 7 7 — A b 754 X 0t 10t| 1,053 t|x7=memE
R5.11.10|() 74 - 33 a=4—> 3~ 0t 2t] 1,051 tfusemaseis-n
R5.11.17|(#) 7 — /¥ X 0t 10t| 1,041 t{x7=mes
R5.11.20|(BR) AEX 7' > 7 84EfR 0t 10t| 1,031 t|wreamspra
R5.11.20|{(B%) REE X 7"V > 7KL T 15 0t 10t] 1,021 t|wrargs
R5.11.22 | (k) PR A i 5 0t 23 t 998 t| BENIRTT
R5.11.24|(#R)BEH D E L HX° 0t 5t 993 t|LeamRT
R5.11.27|2 Y —= X577 / (%) 0t 5t 988 t|LramET
R5.11.27 | (%) 2 S 81ERT 0t 20 t 968 t|LramEs
R5.11.27|(#R) R > L Z 0t 20 t 948 t|LeargT
R5.11.27|AEIZ D TR —ILT 4 v 7 2 () 0t 20 t 928 t| LA mBIT
R5.12.14|OA L B EZ L EHR 0t 10 t 918 t| BEVRTT
R5.12.15((B) 7 — 7 A #2555 0t 5t 913 t| kearBsT
R6.1.18| TOMONARI (k) 0t 10t 903 t|eamBRT
R6.1.30|(B)FEERLHE 0t 5t 898 t| LrampsT
R6.1.31[FEN 3 0t 8t 890 t -
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18 2=
£E | zZwa BALES Sl B (Rl N
(t) (t) (t)
R6.2.8|(#k) ) > o7 = 0t 50 t 840 t -
R6.29[(#)D - | - P 0t 8t 832 t -
R6.2.15| B8 = (1) 0t 40 t 792 t -
R6.2.15|(FB) S TH/E 0t 10t 782 t| LieaRBRT
R6.2.27|(#k) 7 7 RER 0t 10 t 772 t|*F7=memE
Byl R6.3.12|(#R) 7 A + TX - £ — 0t 60 t 712 tlweargs
BERE R6.3.12|(#k) 74 — - T L - TR 0t 30t 682 t|LeamiriT
R6.3.12|(#R) e EASE 0t 10t 672 t| Lkeamps
R6.3.27|HEBHE# (#R) 0t 5t 667 t| Leargs
R6.3.29|R4 BDERCO,+ 7 v k 0t 19t 648 t -
SHSEE 51 628 XEDERCO. A7t v Fo %< 0t| 1,212t| 7% 648t
R6.5.27|R4 BOERA 7t v bR (1&1A %) 0t 23 t 625 t -
R6.6.11|(#k) & A4 X 0t 100 t 525 t|LieamBRT
R6.6.12|(H)EATZRT 0t 30t 495 t|LreaRBRT
R6.6.12|(#k) &3 0t 13t 482 t| LB RRT
R6.6.12| L& =+t 0t 13t 469 t|LEeaRBRT
R6.6.25((#k) h > & T 0t 50 t 419 t|LaaRRS
R6.6.26|(B) @FEFHEMH 0t 5t 414 t| Learps
R6.7.7| (%) B3 AJE 0t 10t 404 t|k7EREE
R6.7.11|(BR)F 2o =HL - 21— 0t 30t 374 t| BERTT
R6.7.19| H FRTHAMIE S 3,000 t 0t| 3,374t -
R6.7.24((FB)EREEM]E 0t 5t 3,369 t|wearss
R6.7.30|(B) k& 0t 5t| 3,364 t| BEERIT
R6.8.2|KFH REZE (%) 0t 5t 3,359 t|LeamBT
R6.8.5|=ZI87 L —>(H) 0t 40t| 3,319 t|wramsRs
R6.8.16[{(%) 3> 4 1 1Lk 0t 60t| 3,259 t|wLkeamET
R6.8.19|(BR)[LEa > YL & > k 0t 20t| 3,239 t{wrarEs
R6.9.18((H) Z & ErT 0t 5t 3,234 t|uramREs
R6.9.20((HB)@M*E 0t 10t| 3,224 t|wreargs
R6.9.30| (#k) A AUk 0t 20t| 3,204 t|wLreamRT
R6.10.8|(F) f kiEdH) 0t 15t| 3,189 t|wramET
R6.10.9|(H) Vo X 0t 50t| 3,139 t|wkeamET
R6.10.10[.3:% & & #ft & 0t 10t[ 3,129t -
R6.11.5(% > 2 U —> (%) 0t 10t| 3,119 t|wreamErs
e R6.11.6|HEXT2(H) 0t 15t| 3,104 t|ueamEs
. R6.11.20|(B) 7 — 7 1 BEHKE 0t 5t 3,099 t|wramET
R6.11.29|(#k) 7 —/¥X 0t 10t| 3,089 t|xF=memE
R6.11.29 (k) A Fr 0t 20t| 3,069 t| BEURIT
R6.12.12|(¥k) 7 14 E 4 T L 0t 20t| 3,049 t|weAmERT
R6.12.16|(BR)RE X 7'V v 7/ KILTI %5 0t 10t| 3,039 t|LramET
R6.12.20|(#k)F &35 0t 10t| 3,029 t|wreamEs
R6.12.27| () BHEH 0t 20t| 3,000 t|wamET
R7.1.8|(#]R) EF X 0t 5t| 3,004 t|uearET
R7.1.23|(B)HiEERTE 0t 5t 2,999 t|wrargi
R7.1.27|(#k) BEUGE v L 7 0t 10t| 2,989 t|ueamEiT
R7.2.4|(#k) BT L EHUX 0t 10t| 2,979 t|wreamRs
R7.2.7|(B) KR4EEH 0t 20t| 2,959 t| BENIRTT
R7.2.7|(8)xEER & T/ERT 0t 10t| 2,949 t| BEURIT
R727|(BR)~> > « AT F VR 0t bt| 2,944 t| BEERTT
R7.2.17|HERI= () 0t 40t| 2,904t -
R7.2.19|(#k) ) >~ o R 0t 50t| 2,854t -
R7.2.25((#k) 7 v X A= — 0t 20t| 2,834 t|wLamET
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ETHR{S iR5E =517%
g | Zwe BALEL N 7 hhE
(t) (t) (t)
R7.3.6(xU—T 2577 /(%) 0t 15t| 2,819 t|wreamRT
R7.3.6|fh B F 5 (1K) 0t 10t| 2,809 t|wramrs
R7.3.7|5—& X (%K) 0t 20t| 2,789 t|wramET
R7.3.11|DXF— T 4 v 7 X (#) 0t 100t| 2,689 t|wreamnrs
R7.3.13|(84) 74— - T L - TX 0t 30t| 2,659 t|LARRT
R7.3.18|(B) S THE 0t 15t| 2,644 t|wLearRs
R7.3.24|(#k) & ¥ / 0t 13t| 2,631 t|wrearss
S6EE 5 474 1,017 t[{3% 2,631t
7,878 t| GEE®)
11,604 t| 8,973 t|7% 2,631t
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